
Consider the power series

P(x) =
∞∑
k=1

xk
k2k =

x
2 +

x2
2 · 22 +

x3
3 · 23 + · · ·

1. Does P(x) converge or diverge at x = 1?
What does this tell you about the radius of convergence of P(x)?

2. Does P(x) converge or diverge at x = −1?
What does this tell you about the radius of convergence of P(x)?

3. Does P(x) converge or diverge at x = 2?
What does this tell you about the radius of convergence of P(x)?

4. Does P(x) converge or diverge at x = −2?
What does this tell you about the radius of convergence of P(x)?

5. What is the interval of convergence of P(x)?
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